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Nim hoc 2021 — 2022

Bai 1: Tinh hop Ii:

a)i+l_g b)E—E-FE-FO,S—%
15 3 5 24 41 24 41
213 28 1 2 137 Y
) = 2_L£°_ - d) VO + (=2) +5.[-=L
)75 s ) o+ (-2) (789]
Bai 2: Tim x, biét:
a)lx_lz_l b)x_zli
3 4 12 3 6
c) 1x+zx:5 d) x+3 =22 =1
2 4

Bai 3: Mai,Lan,Cuc cung di cau ca trong dip hé. Mai cau dugc 12 con, Lan 8 con, Cuc 10 con.
Pem ban dugc tong cong 180 nghin ddng. Ba ban quyét dinh chia tién ti 18 vai s6 ¢4 cau dugc.
Hoi mdi ban dugc bao nhiéu tién?
Bai 4:
a) V& dd thi ham s y = —%x.
b) Cho biét toa do céc diem A(4;-3); 3(1;%); C(3;0).

Bang phép tinh hiy xac dinh xem diém nao thudc do thi ham sé va biéu dién diém do trén
mat phang toa do.
c) Tinh dién tich tam gidc AAOC
Bai 5: Bing tinh toan, hay kiém tra va két luan xem cac tam giac sau c6 vudng hay khong va
vuong tai dau?
AB=8,BC=15 AC=17. AABC .....cccvviieereiceee
DE=+/41 ,EF =4 ,FD=5. ADEF coiosvcveeeeeeeererresresnen,
MN=+3,NP=+5 ,PM=2. AMNP ...cooovririrererrnnnn.

Bai 6: AABC can tai A, goc A =50°;

a) Tinh goc B, goéc C?

b) V& AH vudng goc voi BC (H thugc BC). Ching minh AABH= AACH.

¢) Biét AB =17cm, BC = 16¢cm, tinh AH?

d) Vé CN vuéng goc AB (N thuéc AB), BM vudng goc AC (M thuoc AC). Ching minh NC =
MB.

a+b-3c b+c-3a c+a-3b
c a b

Bai 7*: Chobasd a; b: ¢ > 0théa man:

Chang minhranga=b =c.



PHONG GD&PT QUAN LONG BIEN
TRUONG THCS THANH AM
KHAI BUT PAU XUAN
Mon Ngir Van

Khéi 7
Luu y: Cdc con trinh bay bai ra gidy Kiém tra theo cdc dé, nép lai cho giéo vién bg mén
sau khi di hoc tro lai.

PE 1
Phin I: Poc — hiéu

Doc ngir li¢u sau va tra 161 cac cau hoi bén dudi:

- Tdc ddt tac vang.
- Radng mo ga, co nha thi giir.
- Mau sao thi ndng, ving sao thi mua.
- Thdng hai tréng cd, thang ba trong do.
(Nge van 7- tap 1, trang 3)
Cau 1: Xac dinh thé loai va phuong thirc biéu dat chinh caa nhiing cau trén. Trinh bay
khai niém thé loai do.
Cau 2: Chi ra céc bién phép tu tir duoc sir dung trong ngir liéu trén.
Cau 3: Trong nhiing cau trén, cu nao la cau rat gon? Hay chi ra thanh phan duoc rat gon.
Cau 4: Giai thich y nghia cau: “Rdng mé ga, cé nha thi giii”
Cau 5: Tim trong chuong trinh mot cau em da hoc ¢6 cling thé loai va ¥ nghia véi cau em
vira giai thich.
Phan Il: T4p 1am vin
Cau Tdc dat tdc vang goi cho em suy nghi gi vé vai trd cua dat véi doi séng con
nguoi? Em can lam gi dé gin giit nguon tai nguyén ay? Hay trinh bay bang mot doan van
ngan khoang 6-8 cau.

Goi y: Cac con trién khai doan vin theo cdc ¥ sau:

- Gioi thiéu cau tuc ng.

- Gidi thich y nghia cua cau tuc ngir.

- Néu vai tro cia ddt véi cugc song con ngueoi.

- Puwa ra mot Vai gidi phdp dé giir gin nguon tai nguyén dat

(P6i Vi cdc dé bai twong tw cac con tham khde dé c6 céch trién khai phi hep.)



PE 2
Phan I: Poc — hiéu

Doc cac cau tuc ngilr sau va trd 101 cac cau hoi bén dudi:

- Chét trong con hon séng duc.

- Doi cho sach, rach cho thom.

- Thwong nguwoi nhw thé thwong than.

- Hoc an, hoc ndi, hoc goi, hoc mo.

(Ngir van 7- tap 1, trang 12 - 14)
Cau 1: CAc cau trén thudc thé loai vin hoc ndo va viét vé cha dé gi?
Cau 2: Phuong thuc biéu dat chinh caa nhiing ngit liéu trén 1a gi?
Cau 3: Chi ra cac bién phap tu tir duogc st dung trong cac ngir liéu trén.
Cau 4: Giai thich nghia cau tuc ngit: “Pdi cho sach, rdach cho thom”.
Cau 5: Tim mét cau tuc ngir c6 y nghia twong tu Vai cau tuc ngir vira duoc giai thich o
trén.
Phan 1I: Tap lam viin
Cau tuc ngit An qud nhé ké trang cay goi nhic ching ta vé duc tinh tét dep nao

ctia con nguoi? Em da 1am gi dé rén luyén dac tinh tét dep 4y? Hay trinh bay thanh mot
doan van ngan khoang 6-8 cau.

Goi y: Cac con trién khai doan vin theo cdc ¥ sau:

- Gigi thiéu cau tuc ng.

- Gidi thich y nghia cdau tuC ngir

- Trd o1 cau héi: vi sao ching ta can phdi cé dirc tinh tér dep dy? (3-4 cdu vin)

- Puwa ra mét $6 gidi phdap d@é rén luyén cho minh dirc tinh tot dep dy.

(Poi Vi cdc dé bai twong tw cac con tham khdo dé c6 céch trién khai phil hop.)



TRUONG THCS THANH AM
BAI TAP ON LUYEN TRONG TET KHOI 7

I. PHONETICS
Choose the word whose underlined part is pronounced differently from the other three in
each question.

1. A far B. hate C. crazy D. plate

2. A. ancient B. radio C. nature D. village

3. A. enter B. mention C. vehicles D. helicopter
Choose the word which has a different stress pattern from the other three in each question.
4. A traffic B. cycle C. ahead D. hospital
5. A. transport B. bicycle C. railway D. obey

Il. VOCABULARY

Choose the word or phrase that best completes each sentence below.

6. All of us have to obey strictly.

A. traffic B. traffic rules C. traffic jam D. regular
7.1tis for teenage under 18 to ride a bike in Vietnam.

A. legal B. legally C. illegally D. illegal

8. Yesterday Ba and Nga round West Lake. It took them an hour.

A. cycled B. cycle C. cycling D. cycles

9. We are waiting for the next bus

A. to come B. come C. comes D. is coming
10. Hurry up or we can’t the last bus home.

A. keep B. follow C.go D. catch

11. Peter and Liz used to go to school :

A. by foot B. on foot C. by feet D. on feet
12. They really enjoy the boat.

A. driving B. catching C. sailing D. riding

13. When the bus stops, the students say goodbye to the driver and :
A. walk on B. walk of C. geton D. get off
14. His father is a pilot and he has planes for 10 years.

A. flying B. fly C. flew D. flown

15. You are not to drive without buckling up.

A. allowed B. allowing C. allow D. allowance
16. We should the street at the zebra crossing.

A. walk B. walk through C. walk on D. walk across

Choose the word or phrase that is CLOSEST in meaning to the underlined part in each of
the following sentences.
17. You have to strictly obey traffic signals when riding on the road.

A. catch B. follow C. see D. observe
18. Hoian used to be a peace and quiet city.
A. peaceful B. lively C. crowded D. noisy

Choose the word or phrase that is OPPOPSITE in meaning to the underlined part in each of
the following sentences.
19. Mr. Huy used to ride his motorbike dangerously.

A. riskily B. safely C. carelessly D. annoyingly
20. Hanoi is clean and peaceful.

A. quite B. restful C. noisy D. gentle

I11. GRAMMAR

Choose the word or phrase that best completes each sentence below.



21. ¢ is it from your house to the nearest bus stop?” — “About 50 metres”.

A. How much B. How long C. How far D. How often
22. Linh and Long used to their bikes in his spare time.

A. ride B. rides C. riding D. rode

23. It used to me 45 minutes to go to school by bus.

A. take B. takes C. took D. taking

24.1 a horse when I was young, but now I don’t.

A. ride B. have ridden C. used to ride D. was riding
25. does it take to go from Hanoi to Ho Chi Minh city by plane? — About 2 hours
A. How much B. How many C. How long D. How far

26. he use to sail a boat when he was 15?

A.Do B. Does C. Did D. Is

27. Lan travel by plane, but now she travels by plane much.

A. used to B. doesn’tuseto  C. uses to D. didn’t use to
28. When there is a traffic jam, it me a very long time to go home.

A. takes B. costs C. spends D. lasts

29. Itis over 100 km my hometown to Danang city.

A.in B. at C.on D. from

30. 1 relax on Sundays. But Sunday is my busiest day of the week now.
A. used to B. didn’t use to C.useto D. don’t use to

Choose the underlined part that needs correcting in each sentence below.
31. There used to was much traffic in this area.
A B C D
32. How does our English teacher goes to work every day?
A B C D
33. Children must to learn about read safety.
A B C D
34. Did you used to go to school on foot?
A B C D.
35. It takes me 30 minutes riding from home to school.
A B C D
IV. READING
Read the passage and then decide whether these sentences are True (A) or False (B)
Traffic jams
For many years, Raze has been driving to work and back every weekday. Every morning, on
his way to work, especially during the rush hour, the highways are usually crowded causing
massive traffic jams. The situation is even worse in the evening when he drives home. All the
traffic comes to halt whenever there is an accident or a car has broken down and blocks an
entire lane. In the winter, particularly when it snows, multi-car accidents with injuries can take
emergency paramedics and vehicles removers a number of hours to clear the road. When Raze
Is stuck in a heavy traffic jam, he listens to music on the radio to calm his nerves. His boss and
his wife know that if he is late, he is probably stuck a traffic.
Paramedic (n): nguoi phu gilp vé cong viéc y té
Halt (v): tam thoi dieng lai
36. Raze has traveled to work by car.

A. True B. False
37. There are many traffic jams at the highways during the rush hours.
A. True B. False

38. There will be less traffic jams when he drives home.
A. True B. False



39. Broken-down cars that block the entire lane is one reason for traffic jams.

A. True B. False

40. When Raze is stuck in a heavy traffic jam, he will be angry.

A. True B. False

Read the following passage and choose the option (A, B, C or D) that best answers each of
the questions below.

Stuck in traffic

Richard Ryan is stuck in traffic. There must be an accident somewhere up ahead because he’s
been sitting in the same spot for the last few minutes. The cars aren’t moving at all. It looks
like it’s going to be another slow commute.

Even though he left his house early to beat the traffic, if the cars don’t start to move soon,
Richard will be late for a very important meeting. He has to meet with some lawyers who
advising his company on a construction project. Richard is the president of a big company. If
he’s late, he won’t get in trouble, but he hates to be late for anything.

41. What is Richard’s problem now?

A. He is stuck in traffic. B. He has a car accident.

C. His car breaks down. D. When he was 14 years old.

42. In paragraph 1, the word “commute” is closest in meaning to

A. pace B. go C. movement D. travel
43. In paragraph 2, what does it mean by “to beat the traffic”?

A. to avoid traffic jams B. to travel safety

C. to drive on road D. to move slowly

44. In can be inferred from the second paragraph that
A. Richard is a lawyer

B. Richard has a high position in the company

C. Richard is hiring a groups of lawyer for his company
D. Richard has a trouble working with the lawyer

45. Richard hates

A. traffic jams B. working with the lawyers
C. being late for things D. driving his car
V. WRITING

Choose the sentence (A, B, C or D) that is closest in meaning to the root sentence or best
combines the two given sentences.

46. Lan doesn’t play the piano anymore.

A. Lan used to play the piano.

B. Lan is playing the piano.

C. Lan didn’t use to play the piano.

D. Lan wasn’t playing the piano.

47. 1 don’t have time to collect stamps as when | was in primary school.

A. T don’t use to collect stamps when [ was in primary school.

B. I didn’t use to collect stamps when I was in primary school.

C. I used to collect stamps when | was in primary school.

D. I use to collect stamps when | was in primary school.

48. He is not a poor man anymore because he has becomes a rich businessman.
A. He used to be a rich man.

B. He used to be a businessman.

C. He used to be a poor man.

D. He used to be a poor businessman.



49. My hair now is much longer than that in the past.

A. My hair is longer now than it in the past.

B. My hair was longer in the past.

C. My hair used to be shorter in the past.

D. My hair used to be longer in the past.

50. They didn’t use to go to the cinema every Sunday last year.
A. They didn’t often go to the cinema every Sunday last year.
B. They used to go to the cinema every Sunday last year.

C. They often went to the cinema every Sunday last year.

D. They didn’t went to the cinema every Sunday last year.

__ _Theend



